Given the system at equilibrium:
N,0,(g) + 58.1 kd = 2NO,(g)

What will be the result of an increase in
temperature at constant pressure?
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Which statement must be true for any
chemical reaction at equilibrium?

A Theeoneentration of the products is greater
n-the cohcentration of the reactants.
B | The concenfrétiomof(t! luct$ islless
i onceniration of the reactants.
€ | Thé conceriiration ohthe praducts =pd-the
icentrationeihe reaciants are cqual.
D “ifie concentration oi-the products-and the
concentration of the reactants are cernistar!

e As the temperature of a substance
decreases, the average kinetic energy

of its particles B

Given the equation:

KNOy(s) 200 kNO(aq)
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A concentrated
B dilute >
C saturated

D unsaiurated £

H
Whic ent must belirde about 2
chemical system atFoguiibriam?

A The forward and reverse reactions stop.

B The concentration of reactants and
products are equal.

C The rate of the forward reaction is equal
to the rate of the reverse reaction.

D The number of moles of reactants is
equal to the number of moles of product.

Which change will result in a decrease in
the amount of NO(g) formed?

A decreasing the pressure

B ddcreasing the gonCentratioeéf N,(g)
Cc sindfhgcoRcentrajon of Oxfoy
D increasing lemperatufe

Adding a g™ ysl 10 @ dhehw2al regstion
results in

A adecrease in activation energy and a
decrease in the reaction rate

B a decrease in activation energy and an
increase in the reaction rate

€ anincrease in activation energy and a
decrease in the reaction rate

D an increase in activation energy and an
increase in the reaction rate
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Given the system at equilibrium:

N,0,(g) + 58.1 kd = 2NO,(g)
What will be the result of an increase in
temperature at constant pressure?

Date

Which statement must be true for any
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Given the equation:

KNOy(s) 200 kNO(aq)
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D unsaturated

e Whic ent must beltule fabout =
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A The forward and reverse reactions stop.

B The concentration of reactants and
products are equal.

C The rate of the forward reaction is equal
to the rate of the reverse reaction.

D The number of moles of reactants is
equal to the number of moles of product.
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Which change will result in a decrease in

the amount of NO(g) formed?
A g the pressure

B ddcreasing the gonCentratioeéf N,(g)
Cc sindfhgcoRcentrajon of Oxfoy
D increasing lemperatufe

Adding a g™ ysl 10 @ dhehw2al regstion
results in

A adecrease in activation energy and a
decrease in the reaction rate
B a decrease in activation energy and an
increase in the reaction rate
€ anincrease in activation energy and a
decrease in the reaction rate
D an increase in activation energy and an
increase in the reaction rate
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